

## СЛОЖЕНИЕ И ВЫЧИТАНИЕ В ПРЕДЕЛАХ 10

$5 - 3 = ?$

Пять состоит из 3 и 2. Если вычесть 3, то останется 2. Значит,  $5 - 3 = 2$ .

$3 + 3 =$	$9 - 7 =$	$3 + 7 =$	$4 - 0 =$	$6 + 3 =$	$3 - 0 =$	$8 + 0 =$
$8 - 5 =$	$1 + 2 =$	$9 - 1 =$	$5 + 5 =$	$2 - 1 =$	$4 + 5 =$	$1 - 0 =$
$1 + 6 =$	$5 - 1 =$	$5 + 0 =$	$5 - 2 =$	$1 + 7 =$	$8 - 6 =$	$4 + 2 =$
$3 - 2 =$	$1 + 4 =$	$9 - 8 =$	$2 + 6 =$	$5 - 4 =$	$1 + 7 =$	$4 - 2 =$
$8 + 2 =$	$2 - 1 =$	$7 + 1 =$	$5 - 1 =$	$7 + 2 =$	$9 - 7 =$	$8 + 1 =$
$9 - 3 =$	$1 + 5 =$	$5 - 1 =$	$3 + 7 =$	$5 - 2 =$	$8 + 0 =$	$7 - 6 =$
$5 + 0 =$	$6 - 3 =$	$1 + 4 =$	$8 - 6 =$	$5 + 2 =$	$5 - 2 =$	$5 + 4 =$
$6 - 5 =$	$7 + 2 =$	$3 - 0 =$	$4 + 2 =$	$8 - 4 =$	$0 + 0 =$	$7 - 1 =$
$3 + 6 =$	$5 - 3 =$	$3 + 6 =$	$3 - 0 =$	$3 + 4 =$	$2 - 0 =$	$8 + 1 =$
$9 - 2 =$	$6 + 1 =$	$4 - 1 =$	$1 + 8 =$	$4 - 3 =$	$5 + 3 =$	$8 - 0 =$
$3 + 7 =$	$9 - 5 =$	$4 + 2 =$	$4 - 2 =$	$3 + 3 =$	$8 - 7 =$	$3 + 6 =$
$2 - 1 =$	$6 + 0 =$	$8 - 5 =$	$1 + 5 =$	$6 - 3 =$	$3 + 3 =$	$8 - 7 =$
$4 + 3 =$	$4 - 3 =$	$4 + 3 =$	$7 - 0 =$	$9 + 0 =$	$9 - 7 =$	$7 + 3 =$
$5 - 3 =$	$2 + 1 =$	$4 - 0 =$	$2 + 0 =$	$4 - 0 =$	$6 + 1 =$	$8 - 6 =$
$2 + 3 =$	$9 - 5 =$	$9 + 0 =$	$6 - 4 =$	$3 + 4 =$	$7 - 2 =$	$2 + 6 =$
$3 - 1 =$	$1 + 4 =$	$9 - 3 =$	$1 + 9 =$	$9 - 7 =$	$7 + 1 =$	$3 - 1 =$
$2 + 5 =$	$8 - 1 =$	$1 + 8 =$	$1 - 0 =$	$6 + 4 =$	$9 - 3 =$	$4 + 6 =$
$5 - 3 =$	$4 + 5 =$	$8 - 3 =$	$4 + 3 =$	$7 - 6 =$	$8 + 1 =$	$3 - 1 =$
$4 + 1 =$	$4 - 3 =$	$1 + 7 =$	$7 - 2 =$	$3 + 5 =$	$8 - 0 =$	$7 + 2 =$
$9 - 8 =$	$3 + 3 =$	$4 - 1 =$	$3 + 3 =$	$2 - 1 =$	$1 + 5 =$	$8 - 3 =$
$3 + 1 =$	$6 - 5 =$	$6 + 2 =$	$5 - 2 =$	$2 + 3 =$	$5 - 2 =$	$9 + 0 =$
$8 - 7 =$	$7 + 2 =$	$7 - 6 =$	$9 + 0 =$	$7 - 1 =$	$6 + 1 =$	$5 - 4 =$
$3 + 4 =$	$2 - 1 =$	$4 + 2 =$	$7 - 4 =$	$6 + 1 =$	$9 - 7 =$	$5 + 3 =$
$7 - 6 =$	$3 + 6 =$	$9 - 6 =$	$6 + 3 =$	$7 - 0 =$	$6 + 2 =$	$4 - 0 =$
$3 + 6 =$	$8 - 7 =$	$5 + 3 =$	$3 - 2 =$	$2 + 6 =$	$5 - 3 =$	$3 + 3 =$
$8 - 4 =$	$4 + 4 =$	$6 - 1 =$	$5 + 4 =$	$8 - 7 =$	$2 + 7 =$	$6 - 3 =$
$7 + 1 =$	$6 - 5 =$	$8 + 2 =$	$9 - 1 =$	$1 + 7 =$	$5 - 1 =$	$4 + 5 =$



•• – 3 мин

•• – 4 мин

•• – 5 мин

Лучшее время



1

6

8

1

0

4

## СЛОЖЕНИЕ И ВЫЧИТАНИЕ В ПРЕДЕЛАХ 10

$8 + 0 =$	$9 - 5 =$	$0 + 9 =$	$6 - 5 =$	$9 + 0 =$	$8 - 4 =$	$9 + 0 =$
$6 - 1 =$	$4 + 0 =$	$8 - 3 =$	$4 + 4 =$	$3 - 2 =$	$4 + 2 =$	$5 - 1 =$
$5 + 2 =$	$8 - 4 =$	$0 + 7 =$	$8 - 3 =$	$4 + 4 =$	$7 - 0 =$	$1 + 7 =$
$8 - 6 =$	$7 + 2 =$	$7 - 2 =$	$3 + 4 =$	$9 - 1 =$	$1 + 8 =$	$7 - 0 =$
$2 + 1 =$	$5 - 4 =$	$6 + 1 =$	$6 - 3 =$	$7 + 2 =$	$7 - 1 =$	$5 + 4 =$
$7 - 3 =$	$9 + 0 =$	$8 - 1 =$	$6 + 2 =$	$9 - 7 =$	$6 + 2 =$	$9 - 3 =$
$0 + 8 =$	$9 - 1 =$	$1 + 6 =$	$9 - 5 =$	$2 + 0 =$	$4 - 2 =$	$9 + 1 =$
$4 - 0 =$	$1 + 7 =$	$7 - 5 =$	$8 + 1 =$	$8 - 3 =$	$7 + 1 =$	$9 - 5 =$
$3 + 1 =$	$7 - 2 =$	$0 + 8 =$	$8 - 4 =$	$0 + 2 =$	$7 - 6 =$	$0 + 7 =$
$9 - 1 =$	$5 + 1 =$	$5 - 4 =$	$5 + 3 =$	$9 - 4 =$	$0 + 5 =$	$5 - 4 =$
$7 + 3 =$	$7 - 6 =$	$4 + 3 =$	$8 - 4 =$	$2 + 7 =$	$9 - 0 =$	$3 + 3 =$
$4 - 0 =$	$5 + 1 =$	$5 - 1 =$	$0 + 4 =$	$3 - 2 =$	$8 + 2 =$	$5 - 3 =$
$2 + 0 =$	$7 - 3 =$	$2 + 7 =$	$5 - 1 =$	$5 + 0 =$	$7 - 1 =$	$7 + 1 =$
$5 - 2 =$	$6 + 2 =$	$3 - 0 =$	$7 + 0 =$	$4 - 2 =$	$6 + 1 =$	$9 - 3 =$
$4 + 2 =$	$8 - 7 =$	$9 + 1 =$	$1 - 0 =$	$3 + 6 =$	$7 - 6 =$	$4 + 0 =$
$5 - 3 =$	$5 + 4 =$	$8 - 4 =$	$4 + 0 =$	$6 - 5 =$	$9 + 1 =$	$8 - 3 =$
$6 + 0 =$	$9 - 0 =$	$5 + 4 =$	$4 - 1 =$	$2 + 5 =$	$8 - 2 =$	$4 + 6 =$
$3 - 0 =$	$8 + 0 =$	$8 - 5 =$	$6 + 4 =$	$9 - 8 =$	$6 + 3 =$	$9 - 5 =$
$2 + 3 =$	$3 - 1 =$	$1 + 9 =$	$6 - 4 =$	$5 + 4 =$	$1 - 0 =$	$2 + 7 =$
$2 - 1 =$	$4 + 0 =$	$8 - 6 =$	$0 + 5 =$	$9 - 2 =$	$0 + 6 =$	$5 - 0 =$
$5 + 1 =$	$3 - 1 =$	$2 + 8 =$	$8 - 3 =$	$3 + 3 =$	$9 - 8 =$	$0 + 2 =$
$7 - 2 =$	$9 + 1 =$	$5 - 2 =$	$2 + 3 =$	$3 - 0 =$	$9 + 0 =$	$3 - 1 =$
$7 + 2 =$	$8 - 2 =$	$4 + 1 =$	$6 - 4 =$	$0 + 4 =$	$7 - 2 =$	$1 + 4 =$
$9 - 7 =$	$4 + 2 =$	$9 - 6 =$	$3 + 5 =$	$4 - 0 =$	$2 + 1 =$	$3 - 1 =$
$3 + 5 =$	$6 - 5 =$	$5 + 3 =$	$5 - 4 =$	$5 + 2 =$	$4 - 1 =$	$0 + 1 =$
$6 - 3 =$	$4 + 4 =$	$2 - 0 =$	$9 + 1 =$	$4 - 2 =$	$9 + 1 =$	$9 - 5 =$
$3 + 7 =$	$4 - 0 =$	$1 + 5 =$	$9 - 8 =$	$5 + 4 =$	$9 - 5 =$	$1 + 0 =$
$7 - 2 =$	$1 + 7 =$	$4 - 0 =$	$3 + 0 =$	$9 - 6 =$	$2 + 4 =$	$2 - 1 =$
$1 + 8 =$	$9 - 8 =$	$5 + 3 =$	$4 - 2 =$	$9 + 0 =$	$9 - 4 =$	$4 + 3 =$



2

2

3

7

8